p21/p22
F [N] p11= p12= 10 bar [bar]

F (MAX. PERMISSIBLE  15000N) @ ALL ROUND  MAX. 5°

@5 T

b 10

I
. gy 2 2160 /

T 1920
_P2945B i . Fefls) — |,

<l —
i
Y
(D)
I
-
O

——

/
|
1440 R R -

1200 / |

_2440.6

12 . p22+f(3)

2]
o
(5
S

M12X1.5
M16X1.5
0.1 MIN
\l
N,
-
\
§

4

RN W~ " oy N Q@ WO

I
—

+

N
~
()
Y

A

\
\
N\

J

—

- — e’ - - —lﬁ p=|0.3-8T15 bGrI

|

20 i

145

0 2 4 6 8 10 2 14

A
3
2.

1?2 _ ZD—AII

M16x1.5

M12x1.5
M16x1.5

gl

I
——

AT FAILURE CIRCUIT 1: NECESSARY COURSE S = 14 mm
NECESSARY FOURCE F = 4100 N

J—

S
a—

(1) STOP WITHIN THE DEVICE ADMISSIBLE

o8 L,

42 42 / 42
[ 5 O8?

36

A
|
A
Y
I
!
i
|

11712 SUPPLY 21/22 OUTLET 3 EXHAUST

PLASTIC VENTING GUIDE TURNABLE: 360°J V

v ATH () O
I
(36135 077 0

MEDIUM: AIR NOMINAL DIAMETER: T8.5mm2 = @10

A
!

WORKING PRESSURE: pe = MAX. 10 bar TEMPORARILY: pe = MAX, 12 bar

THERMAL RANGE OF APPLICATION : -40°C ... +80°C

brevetti o modeli.

INSTALATION POSITION: OPTIONAL

80

61+0.2

Copying of this document and giving it fo olhers and the use or communication of the contents thereof, ore forbidden without express
autharity. Contravention of this restriction will constitufe an evident abuse and result in a ligbility 1o the payment of damages. All rights
are reserved in the event of the gront of patent or registration of a ufility model or design. This document is the subject of copyright.
0
o
[,]

Non e permesso consegnare o ferzi o riprodurre guesto documenta, ne utilizzorne il conferuto o renderla comungue nate a ferzi
senza autorizzazione esplicita. Ogni infrazione costifuirg un evidente dbuse e comportera 1l risor cimento del danni subifi.

E'fottar riserva o tutti i dirit

J—

AVAVAV

1 |
1 21—

61+0.2

autarisation expresse. Toub manguement o cefte regle constitue un abus evident ef expose son autelr qu versement de dommoges et

interets. Tous droits de propriete industrielle reserves, notomment en matiere de brevets et de modeles.
nicht ausdruecklich zugestanden. Zuwiderhandlungen stellen einen offensichtlichen Missbrauch dar und verpflichten zu Schadenersafz.

Toute Communication ou reproduction de ce document, foute exploifotion ou communicotion de scn contenu sont interdiles, souf

Weitergobe sowie Vervielfoelligung dieser Unterlage, Verwerfung und Mitteilung ihres Inhalts nicht gestattef, soweit

*iqu I

}:E TORQUE FOR CONNECT|ONS : M’|6x’|.5 : M = MAX . 34 Nm L L= J L J General Specification:  JED-334-1 , Size IS0 14405 LP Copyright WABCOH® WA Bco

= MI2x1.5 : M = MAX . 21 Nm Further Technicol Cata: Dats | Signature

i Doc. Code: Sheet: T Craun

3 n s iy - 206-08-1 | Qu BRAKE VALVE

= eneral Toleronces JED-2&1 Thecked

§ Range of Nominal Dimensions { + mm) 2015-09-23 | Adamski

E . 50> 180 o el

: Cl 7 e 00 < 180 < 400 > 400 Adomski

2s ,OSS Mass Scole Material No. Dote of first issue:  2015-02-23
= Fine ?05 ;% T'% 2“8 R 1.35 1 1 Doc.Code | Longuage Sheet
= Wedi . . 3. 4. +3 ' :

5 o M e B © 461 315 077 O 005 | EN | 1/1
g : - : : Size CAD System

= Topped Holes cce. 1SQ 4039/JED-152 ECN-Mo. Revision Tectn. Resp. Replacement for

&% 1) Tolerance Closs Applied Crossmarked A 1 CREO G@ 166319 4x A 5180

= =

1

12

13

14

WOOImm




